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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 1

Question:
7 =2+i, zp=3+4i. Find the modulus and the tangent of the argumeach of
azz

Z
b &
)

Solution:
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z*® is the symbol for the conjugate complex
number of z.
If z=a+ib then z¥*=a—-ib.

) =115
5
—>
5
Ziz;"
5 1
tanf=—=— , n .
10 2 Arguments in the fourth quadrant are negative.
z,z,* is in the fourth quadrant. The tangents of arguments are negative in the
1 second and fourth quadrants.
tan arg (z,2,*) =—=
' 2
b ot 1 I-H‘ 5 3_4T J To simplify a quotient vou multiply the
& Il 3= % numerator and denominator by the conjugate
_6—8i+3i+4 1051 complex of the denominator. The conjugate
- 25 25 complex of this denominator 3+ 44 is 3—4i.
2 0.
=———i
5. 5
al (aY . 7Y _ -
2 T\5) TUTs) T3 T5T 25T
zl ARSTA ENTBTIS 35 )
L R
I 5 5
:_L-' r Y
a x

LR

~Lis in the fourth quadrant.
z;

{2}
tanarg, — |
A

| =
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 2

Question:

a Show that the complex numb%i%?i’i can be expresséaifotm) (1 +i) , stating the value bf .

Pagel of 1

\4
b Hence show the(t25:3i') is real and determine its value.
Solution:
2+3ixd—i _10-2i+15i+3 n syt
5+ 5 26 BH)(3-1)=5 +1' =
¥ ou should practise doing such
13418 1 . calculations mentally.
“"2% 22
=l[1+i]
2
A =% You use the result from part (a) to
= simplify the working in part (b).
(2+3iY [1 T
b ' | = =(1+1 <
xS [2( -]J

=%[’1+4i+5i1+4i-‘+i4:]
PP =ixi=—1xi=—i

i4 =i]><i: =-1lx—-1=1

LY, T
16

:ix—-’,:—i . areal number

16 4

© Pearson Education Ltd 2C
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(a+b)' =a* +4a°b+6a°b% +4ab’ + 5

* / [1+i]4is expanded using the binomial expansion
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Review Exercise
Exercise A, Question 3

Question:
7 =5+i, 2p=-2+3i

2_ 2
a Show thafz [*=2 | |~ .

b Findarg (#z) .

Solution:
a |213:51+12:25 - / If z=a+ib.then |z[ =a’ +5°
|z =(=2) +3* =4+9=13
26=12x13 When vou are asked to show or prove a
Hence result, vou should conclude by saving that

1 7 2 - -
43 | z:| _asrequired. +———————  You h&?&rf_‘ proved or shown thelresult_ "I‘fc:u
can write the traditional g.e.d. if vou like!

—10+151—-2i—-3=—13+13i

¥ Y

275

13
g i
13 O p s The argument is the angle with the positive
x-axis. Anti-clockwise is positive.

13 T
tanf=—=1= 8=—

13 -
2,2, is in the second quadrant. As the question has not specified that vou

R should work in radians or degrees. You
arg(zz,)=m——="— 4+ could work in either and 135° would also
+ # be an acceptable answer.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 4

Question:
a Find, in the formp+iq wherp andq are real, the complex numbewhich satisfies the equatiesgf__—i1 = 1:12i
b Show on a single Argand diagram the points whigitesent andz".
¢ Expressz andz"in modulu—argument form, giving the arguments to the neategtee
Solution:
3z-1 4
a e :
I-i I+12i Y ou multiply both sides of the equation
— 45 _ iy ! ;
32_1:8 41><1 2i -— by 2—i. |
1+21 1-2i Then multiply the numerator and
_B-161—4i—-8 —20i 4 denominator by the conjugate complex
o 5 T : of the denominator.
3z=1-41
1 4,
z=———1
3 3
b v ® z*(%= EJ You place the points in the Argand
K diagram which represent conjugate
B complex numbers symmetrically about
ol e % - the real x-axis.
b Label the points so it is clear which is the
~X 2(3.—4) original number (z | and which is the
3: 73
conjugate (z*).
) |2 (1Y o 4Y 1,16_17
¢ =z =i — _—— = — —_—
3/ L3) 9 9 9
| ” |_ J17
z : | |
3 The diagram vou have drawn in part
tan&z%:—i = f=76° (b) shows that z is in the fourth
3 / quadrant. There is no need to draw it
z is in the fourth quadrant. again.
arg z=—76%, to the nearest degree.
17 AN1T
. cos(—76%) +i ‘LTsm (—76°)
o It is alwaws true that |z*|:|z|

BT s ool oo
z‘:Tcos.fﬁ +1Tsm?6 L S and arg z*=—arg z,

50 vou just write down the final answer
without further working.

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 5

Question:
71=-1+i/3, =3 +i

aFind iargzz i argz.

b Expresszz—l in the forrm+ib , wheseandb are real, and hence findrg(?]
2 2

c Verify that arg(?j =argz -argz.
2

Solution:
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k

T A S
1 3

z; is in the second quadrant

E:[’gZ="I'—E=E
¥ g g3
i Sk
Z;
g |]
() 43 T

=t = g%
43 6

z, is in the second quadrant

T
arg z, =
(4341)(¥3=i) =(¥3)" =i
by Z_1=_1+]I.'\.I3‘X'\.I3‘_i =3+1=4

z, N3+ A3-i

—+/3+1+31+43
= =0+i

Although not strictly in the form
a+ib  the answer i is acceptable.

Any number on the positive imaginary axis

T
has argument =

e

T T Verify means show that the equation is
s R - R i from part (2) satisfied by the particular numbers in this
- £ question.
e e :'? —arg| L In part (a). vou worked out arg 7 and arg z, -
Fa I,&_Zz J P 5
[z |
Hence the relation is satisfied by z; and z,. In part (b). you worked out arg| —- |

VE1 )

You substitute vour answers into the equation
in part (c) and check that it is correct.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 6

Question

a Find the two square roots ®f 4i

in the foamib

Pagel of 1

, wheeendb are real.

b Show the points representing the two square wf3 - 4i in a single Argand diagra

Solution:

a

zi=3-4i =
Let z=a+ib where g and b are real.
(a+ib) =3—4i

a*+2abi-bt=3—4i

Equating real parts

a'—bt=3 0+«
Equating imaginary parts /
lab=-4 a

From @
: )
b el
2a a
Substitute © into O
5 s
a:—f—z.' =3
Iu a)
a:—i:?r
2
at—3a’—4=0
(@ —4)(a*+1)=0 ——
a =4
a=2-2

Substitute the values of g into @

The square roots of 3—41 are 2—1 and —2+1_

b ¥ &
Y [_—l ]_]
0 g
x(2.-1)
© Pearson Education Ltd 2C
file://C:\Users\Buba\kaz\ouba\fpl revl a_ 6.}

The square root of, say, 2 is a root
of the equation z* =2 . The square
root of any number k, real or
complex, is aroot of z' =k.

Equating real and imaginarv parts gives
a pair of simultaneous equations one of
which is quadratic and the other linear.
The method of solving these is given in
Edexcel AS and A-level Modular
Mathematics Core Mathematics 1,
Chapter 3.

The onlv possible solutions of
a*+1=0 are complex, a=*1i,
and as @ is real vou must ignore
these and only consider the roots

of @ —4=0

3/18/201:
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Review Exercise
Exercise A, Question 7

Question:

The complex numbezis -9+ 17i.

a Showz on an Argand diagram.

b Calculate arg, giving your answer in radians to two decimal ptace

¢ Find the complex numbev for whichzw = 25+ 35i, giving your answer in the forpwiq , wherandq are real.

Solution:
a f—EJ 1?]

v

&
a X

17 You have to give vour answer to 2

b tanf=— = 8=1084 decimal places. To do this accurately
3 g 2 vou must work to at least 3 decimal
;_lgs ;n:t%re_sle Bugrzd quidljm[;]kg? places. This avoids rounding errors and

: : errors due to premature approximation.
=2.06, in radians to 2 d.p.

D417 041% 017

25+351 254351 254354 91T
w= *
z

In this question, the arithmetic gets

_ _225_4251i_315i+595 + complicated. Use a calculator to help
[—9 1" +1 72 vou with this. However, when vou use a
370 —740; calculator, remember to show sufficient
= =1-24 working to make vour method clear.

370

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 8

Question:

The complex numbesandw satisfy the simultaneous equations

2z+iw=-1, z-w=3+3i.

a Use algebra to fing, giving your answer in the foran+ib , wheseandb are real.

b Calculate arg, giving your answer in radians to two decimal pt

Solution:
a 2z+iw=-1 L1}
z—w=3+3i ® You use the same method as vou
. =R e leamt for GCSE to solve simultaneous
L S eSS equations. To balance the coefficients
Q+©@ (2+i)z=—4+3i of w_ vou multiply both sides of
HESL T SRFaagiEd equation ® by i. Adding equations @
a5 21 o o 3 and @ then eliminates w.
—54+101 .
= S =142
5
b N2
2
1 |0 ¥
2 ,
tan@="=2 = #=1.107 ... You must work to a least 3 decimal
1 places to obtain an accurate answer to 2
zis in the second quadrant. decimal places.
argz=m—1.107_.. =2.03, to 2d.p.

© Pearson Education Ltd 2C

file://C:\Users\Buba\kaz\ouba\fpl revl a_ 8. 3/18/201:



Heinemann Solutionbank: Further Pure Pagel of 1

Solutionbank FP1

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 9

Question:
The complex numbersatisfies the equatiGZﬁ% =i, &R

(2-32)(1+1)

a Show thatz = >
1+

b In the case when=1 , fingdl and arg

Solution:
a z-2=A4i z+3i_]‘/_/,/___,_/_' Aix3i=34i' =34
=Aiz—34
z I:l—ﬁi] =2-34 Y ou make z the subject of the formula
295 1+4i and then multiply the numerator and
£ 2 < denominator by 1+ Ai_ which is the
i conjugate complex of 1—-A1i
(2-34)(1+11) , e B :
= . as required.
I+4
231+
b J?:]. = Z:{ ]I: lJ:—l—ll
1+1 2 2
T G0 Y00 N WP
KPS s) "8 AT
I 2
o= -2
V2 2
-
i J'
.| 8710 =x
+ T
tanf===1 = f=—
= 4
z is in the third quadrant. The question does not specify
[ o) 3T radians and arg z = —135"would be
g z=— T—— |=—— "
4 4 an acceptable answer.

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 10

Question:
The complex numberis given byz=-2+2i .

a Find the modulus and argumentzof

b Find the modulus and argument—iof .

¢ Show on an Argand diagram the poiAt8 andC representing the complex numbar&zr andz+% respectively.

d State the value (0 ACB.

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 10.l 3/18/201.
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F=(2)+22=4+4=8

7

|z|=v8=242
z ¥
b)
& &
7 |0 X
=iy g
2 4
zis in the second quadrant.
arg z=mT— .38
4 4
| 1 =2—2i =30 |
h = - i A : = =————1
z 2421 —-2-12i g 4 4
‘11_r_1f Iy _f.1 1
z| L 4) \ 4) 16 16 &
El 2 1. «2
z| V8 242 4
il
i S G X
4
1
: T
and=3=1 =y g=—
! 4
T
z isin the third quadrant.
{ @\ 3m
z=—| g——|=——
il Rl S
4 . : 1
c < 4 The point C, representing z+—, must be a
Cc : vertex of the parallelogram which has 04 and
OF as two of its sides.
0 x
B In this case, as vou have already shown that
A and OF make angles of ;—I[ii 5‘:':} with the
negative x-axis, the parallelogram is a
d SACE =90~ % rectangle.

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 11

Question:
The complex numberg anrgl  are givergpy /3 +i Bhdl-i

a Show, on an Argand diagram, points representingdhglex numberg, z, argl+z

b Expresszl— anezll— , each in the foamib , whasndb are real numbers.
1 2

c Find the values of the real numbé&randB such thai’z5 + ZE =z+2 .
1 22

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 11.|
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4
a ¥
z
'-Hx- 1
st i Zyt+2;
%, "'fA - . .
O, e x The point representing z; +z, must form a
v e parallelogram with O and the points
z ¥ representing z; and z,.
7, +z, =+3+1, which is real, so you must
1 1 J3-} N draw the point representing z; +z, on the
h —_—= st = = o .
. 4 F4+i 3= |:‘~ 3_\]h+1‘ positive Xr-axis.
43=i A3 1,
= =———1
4 4 4

1 1. 1+i 1+i 1.1,
—_— e — = —=—+—1
z, 1-1 4 T4+E 2 2

You use vour results in part (b) to simplify
the working in part (c). Substitute the

" ‘_{+ = answers to part (b) into the printed
I equation in part (c)
(3 1. L )
A ———i |+B| —+—i |=v3+i+1-1=+3+1

TS R

Eguatimgreal parts You clzbtrﬂn a pair G.f simultaneous
| equations by equating the real and
{3 1 , GEriraL ; :

;i+;3 =43+1 © imaginary parts of this equation.

e

Equating imaginary parts
1 1

——A+—B=0 2]

4 2
O-8

o] a=ysi

PR

'\'3+1\'

(1341 4 s

Ik 4 )}

A=4

Substitute in @

4+%B=U:}B=2
A=4.B=2

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 12

Question:

B

=1-3 wherA andB are real numbers. Given thatw =i

The complex numbemsandw are given by = 1—’:, w

a find the value ofA and the value dB.

b For these values @& andB, find tan[arg (v - 2)].

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 12.| 3/18/201:
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" s = A _ 4 xﬁ _4 (1+i) The expressions for both z and w are
1-1 1-1 141 2 fractions with complex denominators.
B B 1+31 B, : .,.._-" You should remove these, by
i m T B T i EU +31] multiplving both the numerator and
denominator by the conjugate complex

of the denominator, before substituting
into the equation.

Z+w=i

A o T
B [’.1"‘1]“‘5 [1"'31] =1 When equating the real and complex parts of
| \ both sides of the equation, think of the
Equating real parts p )

complex numberi as 0+1i.

2 10
Equating imaginary parts
2 10
e-0
9
£=1:>E=“
10
Substitute into @
q
2 10 2 2
A=—-1B=5
b With these values of 4 and B
-1 : 1 1.
:=?(1+I]=_E_El
w=;[1+31]=1+ii
10 2. 2
I 3 [ 4 1,“;
WeZ=—F =1
22 2 32
=l+ii+1+—i—1+21
2 2 2
}'"' S
2
al g I,;

)

tan [arg [w—zj] =

= | b

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 13

Question:

aGiventhatz=2-i , show thaf =3-4i .

b Hence, or otherwise, find the rootg, and , ofdheationz+ i)2 =3-4i.
¢ Show points representig and on a single Arghagram.

d Deduce thalty -z, |= 2./5 .

e Find the value odirg i +2) .

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 13.1
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i)’ =d—ditile—0u

=4—-4i-1

=3—4i  as required.

b From part (a), the square roots of 3—4i
are 2—i and —2+i.
Taking square roots of both sides of the

equation [z +i]1 =3—-4i

(e) #+z,=2="-2=-U

J'TG

L
X

&

arg (7, +2,) =~

(R =

© Pearson Education Ltd 2C

file://C:\Users\Buba\kaz\ouba\fpl revl a 13.1

z; and
that would make no difference to | z;— I,

or Z; +2;

Page2 of 2

You square using the formula
(a-b) =a* —2ab+5’

The square root of anv number k, real or
complex, is a root of z' =k Hence, part
(a) shows that one square root of 3—4i

is 2—1.

If one square root of 3—44i is 2—i_ then
the otheris —(2—i).

z, could be the other way round but

. the expressions vou are asked

about in parts (d) and (g).

z; —z, can be represented on the diagram
vou drew in part (c) bv the vector joining
the point representing z; to the point
representing z,. The modulus of z; —z, is
then just the length of the line joining
these two points and this length can be
found using coordinate geometrv.

The argument of any number on the

S ’ N T
negative Imaginary axis 15 —; or

-

=007,

3/18/201:
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 14

Question:

a Find the roots of the equatiaf+4z+7=0 , giving your ansae the formp + i/q , wherp andq are integers.
b Show these roots on an Argand diagram.

¢ Find for each root,

i the modulus,

ii the argument, in radians, giving your answer$ited significant figure

Solution:

a ity =-7 You may use any accurate method of solving a
guadratic equation. Completing the square

5 vworks well when the coefficient of z* is one
e S, E :
IZZ ‘-] =3 and the coefficient of z is even.

b A
(-2.43) % *
&) X <
[—2=—‘~£3}><
ci |-2+iv3[ =(=2)" +(¥3)' =4+3=7

The moduli of conjugate complex

B A S B S
| 2+iN3 |_ i :// numbers are the same so vou do not have
to repeat the working.

|-2-iv3|=v7

N3 | g
2 O‘ x

t;aﬂi-?'zx—_!Elr = #=07137 ..

—24+i+3 is in the second quadrant
arg (—2+iV3)=m-0.7137 ...
=243, to 3 significant figures

If zand =z * are conjugate complex numbers,
then arg z* =—arg z_ Once vou have worked
out arg 7, vou can just write down arg z*
arg(—2—-1v3)=-243. to 3 significant figures  without further working.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 15

Question:

Given that.e R and thaandw are complex numbers, solve the simultaneous emsti-iw =2, z-Aw = 1-2, giving
your answers in the foria+ib, wherea, beR, anda andb are functions o.

Solution:

, You solve simultaneous linear equations with
z—iw=2 - @ complex numbers in exactly the same wav as vou
z—Aw=1-4" .. @ solved simultaneous equations with real numbers at

GCSE. In this case, as the coefficients of z are
0-9o : _ already balanced, vou subtract the equations as they
—iw+Aw= 2—[_1—2-]_] stand to eliminate z.

z—i(A+i)=2

z=2+1(A+1)=2+id-1=1+id

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 16

Question:

Given thatz =5-2i ,

a evaluatdz| , giving your answer as a surd,

b find, in radians to two decimal placesgz

Given also that; is a root of the equatiBs 10z+c=0 , wheisea real number,

c find the value oc.

Solution:
f=8 (2] =2544=290 +——— Ifz=a+ib.then |2 =a* +5°

a |31

5
tané?‘=% = 6=03805 ...

is in the fourth quadrant
to 2 decimal places.
¢ If z;=5-1i is one root of a quadratic equation
If o« and /5 are the roots of a quadratic

equation, then the equation must have
=(z—5+2i)(z—5-2i) the form (z—e)(z— ) =0.

with real coefficients. then z; =5+2i must be

the other root.

J(z—2)

2 —10z+25+4
=2z"-10z+29=0

Comparing this with the equation in the question
c=129

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 17
Question:
The complex numbesandw are given by = 52__1i0i and =iz .
a Obtainz andw in the formp+iq , wher@ andq are real numbers.
b Show points representirgandw on a single Argand diagram
The originO and the points representingndw are the vertices of a triangle.
¢ Show that this triangle is isosceles and statautighe between the equal sic
Solution:
5-10i 244
a F= ®
2—i 2+
_ 10+5i-20i+10
2 +1°
20-154 ;
M W
5
w=iz=i(4-3i)=4i-3i" =3+4i
IJ [ .
v xw(34)
) x
z(4,-3)
B
¢ Let 4 be the point representing w and
B be the point representing z. As vou are only asked to state the
angle between the equal sides, vou do
|w|: =32 +42 =25 = |w‘=5 not need to show working. If vou
- ) cannot see this angle is a right angle or
|—7 | =4° +|:_3] =15 = |Z |=5 if working was asked for, vou could
Hence 04 =08 =35 and the triangle JAF is isusciy argue:
The angle between the equal sides, £ A4A0F =907 the gradient of OA4. m= 3.
the gradient of OB, m'=—3_
mm' =—1, so the lines are
perpendicular.
© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 18

Question:
S L J2
T

a Find the modulus and argument of each of the cexnplmbers; ang, .

b Plot the points representing z,, agdz  on a singmAd diagram.
¢ Deduce from your diagram thtar(%”) =1+42

Solution:
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I+i 1+i
a ¥
1-i 1+
_1+42i+i? _l+2i-1 20
Pyl 2 2 3
T /
|zl‘=1= arg z; =E The argument of anv number on
. ; : R 5
A L (1+i) ~2 +2, the positive imaginary axis is = or
o= —— 4 —
I i 2 2 2 op°
2 :.-*_‘:2\: -‘«;2"\1 2
z [ =l =] 4| =| ==4==1
- {\ 2 _’-' ‘I-.__ 2 ‘.' -
=1
1 Z5 It is worth remembering that anv complex
number of the form a +ai ., where a >0,
- —
& has argument — _ This working is then not
o| = 4
1 NEeCessary.
V2
=
tan 8 = — =1
=32
2

z, is in the first quadrant

arg z, = i
o4 4 B
b ¥ 4 5+z
z
1 z, 3z 5 C
— g
a X
Q N -
{2 2 \", T £o
¢ ntI=— i\T ) ANOC =45 the argument of z,
- - LC0A4A=90"—45= 45"
arg(z +z,) = i ZCOB=1-004=221"°, the diagonal of 2
o K parallelogram bisects the angle
( 3?{ ?+1_\2+2 ZNOB=45°+221° =6?1°—3ET in radians
19 i
S ) _" ", 2 \ fé 3:_.1.‘\ ) BN
2 tan, — |[=tan(arg(z +z,)) =
43 2 \ 8/ T
=—+—=1+4+2 asrequired
Y2 2

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 19

Question:
S142i, zp= 344
7=1+2i, p= 5+5|
a Express in the formp+qd , wherg qsR

i 7p

In an Argand diagram, the origid and the points representingy, ?
2

b Sketch the rhombus on an Argand diagram.
c Find z;.

65

Solution:
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3 4

”
ai zz; =(14+2i) —+-=i |

5 5 .
TS BN S
5 5 5 5§
3 4,
Z _ 1+21X§_§1
" 273 473 %, o e
14— ———i 3 473 40 3% (4% 5+16
55 55 | Z4=i | 2-=i|= 2| H| ===
3 4 6 8 |55 K E (5] Lﬂs) \5) 25
gty The relation between . ¢ and1 is the well-known
- 1 3. 4, 5 relation divided bv 5 and, with practice, vou
can just write down answers like this.
b J'.ﬂ £

On an Argand diagram the sum of two
complex numbers can be represented by
the diagonal completing the
parallelogram, as shown in this

diagram. (A rhombus is a special case
of a parallelogram. )

E Z
(6 (12" 36+144 180 36x5
d |Z | ki +] — = e
LR ) EG 25 25 25
5
Hence |z3 |= 6: as required

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 20

Question:

7= -30+15i.

a Find argz, giving your answer in radians to two deciplakces.

The complex numbers amg are givenzpy -3 +pi &g + 3i , Wharelq are real constants ampd- g
b Given thatz,zz = 7 , find the value gfand the value df.

¢ Using your values gb andg, plot the points corresponding#pz, aad on areAdydiagram.

d Verify that2z, + z3- 7 is real and find its value.

Solution:
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a }.I.ll
Z
15 g <
30 O x
As vou are asked to give vour
taﬂf_-ﬁ':E:l = g () A6 # answer to 2 decimal places, you
2 should work to at least 3 decimal
z, is in the second quadrant. places. This avoids rounding errors.
argz; =7—6=268 to2dp.
b 353 =5
(3+ pi)(g+3i)=—30+15i
—3g—% +pgi —3p=—7304+15i
Equating real parts . . : ) .
B35 30 > FEF S P quuatmg real and imaginary parts gives a
pair of simultaneous equations one of
- . which is quadratic and the other linear.
Equating imaginary parts The method of solving these is given in
S+pg=15 = pg=24... ... ... e Edexcel AS and A-level Modular
From @ Mathematics Core Mathematics 1.
5
q:ﬁ - Chapter 3.
B
Substitute € into @
P +E =10
e
p —10p+24=(p—4)(p-6)=0
=46
Substituting p =4 into @ gives g=6.
As p =g is given, this solution is rejected.
Substituting p =6 into @ gives g =4.
p =6, g=4 is the only solution.
. La y1

4 22,+2,—2 =2(-3+6i)+4+3i (=30 +15i)
=—6+12i+4+31+30-15i =28, areal number

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 21

Question:

Given thatz=1+/3i and tha“zé:z+zi , find

aw in the forma+ib, whera, beR ,

b the argument of,

c the exact value for the modulusvaf

On an Argand diagram, the poiatrepresentg and the poinB representsy.
d Draw the Argand diagram, showing the poiftandB.

e Find the distancAB, giving your answer as a simplified st

Solution:
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2—2v3~-146 sowisin the second

. quadrant.

I+1IN3 The length of the sideis 243—2_not 2-2v3
as lengths have to be positive.

&

243-2
By
e T g ray
243-12 . I T"?I.I.h .
w is in the second quadrant MEW s ety 12° o e
argw= 77— =183, to 3 significant figures excellent answer to give, but an exact
answer is not specified, so it is not
c | 14'|1 = [2 —24 3)1 +[2 4+ 24 3)1 essential. A calculator has been used
_ : i i 5 . here. Radians are not specified so
= 4f8 V3+12+4+843+12=32=16x2 degrees would also be acceptable.
|1""'|=4'"'2 argw=105°_ exactly.
T
g ® B .
woA
o X A has coordinates fl \."3} and B has coordinates
(2—2‘-4'1 2+243). You use the formula
e 231 +{24293-43) e— . 2
Rk L } AB* =(x,—x) +(y,—») from Coordinate
=L ] I: +13-] Geometry to calculate 4B,
=1-443+12+4+44343
=20=4x5
AB=2+5

© Pearson Education Ltd 2C

file://C:\Users\Buba\kaz\ouba\fpl revl a 21.| 3/18/201:



Heinemann Solutionbank: Further Pure

Solutionbank FP1

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 22

Question:

The solutions of the equatiaR+6z+25=0 afe apd , wherargz <z -arRtrgz, < 0.

aExpressy and, inthe foraxib , whexandb are integers.
b Show that’ = -7 -24i .

c Find|212|.

d Findarg (212) .

e Show, on an Argand diagram, the points which regrethe complex numbezg z azi%l

Solution:
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a z'+6z =-25

. 0 < arg z; < 7 implies that z, is in the first or
27+ 6z+9=-25+9

% second quadrant . —3+41i is in the second
I':E +3J‘ =-16 quadrant. so this is z, . The other solution is in the
z=—314 "’/// fourth quadrant. so that is z,. You need to know
zy=—3+4i. z; =34 which solution is z; before going on to parts (b).
: () and (d).
bzl =(-3+4i) =9-24i-16

=—T7—241i as required

L T 2 If vou recognise 7, 24, 25 as a set of numbers
¢ |22 =(-7) +(-24)' =625 e e
: . satisfying the Pyvthagoras relation a™ =5" +¢",

|zl‘ | —y625=25 — vou can just write this answer down.

d ¥ 'y
7 .
/10 =x
24 4 3
The inequalities O <argz < 7 and —7T<argz, <0
show that, in this question, the arguments are in
4 radians.

s B 24 — 9~1287 Where no accuracy is specified in the question, it is
s 7 Iy reasonable to give vour answer to 3 significant

z; is in the fourth quadrant figures.

arg z; =—( 1—#)=—1.85, to 3 significant figures

%]
My

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 23

Question:
z=3 -i. Mis the complex conjugate af

3,

a Show thatr, =
z

N~

b Find the value df>| .
z

¢ Verify, for z=+/3 -i, thatargz% = argz-argz-.

d Displayz, 2" andiD on a single Argand diagram.
z

€ Find a quadratic equation with roa andz-in the formax?+ bx +c = 0, wherea, b andc are real constants to be foL

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 23.l 3/20/201:



Heinemann Solutionbank: Further Pure Page2 of 3

Y ou multiply the numerator and the denominator by

x _ 4 3
8 ZF=V3+4i i the conjugate complex of the denominator. The
2 WN3—i Xx'3—i _ [1'3—?]‘ conjugate complex of ¥3+i is v3—i, so the
% ASH A= 4 3):+1 numerator becomes [:«.'B—ij]:wkdch Vou can square
(«-3‘11—2{31 T Ll S W using the formula (a—.af =a’ —2ab+b*.
- 3+1 T 4
B O i red
= 5 —1i, as require
A L e
z vz) L 2] & e
el
Zt
c ¥
V3 2=
G|\Q1 x
1 T
tanf=— = 8=—
V3 b
z is in the fourth quadrant
argz &
£=——
] ;<
T o [ &) F
S Youuse argz¥=—argz and - —— |=—.
arg g L 6} 6
Ye 1
V3
g T
tanf=-2=y3 = f="1
1 3
2
- A Venty means show that the equation 1s
% is in the fourth quadrant satisfied by the particular numbers in this
B o question.
You should show that the equation is

- -
=
- 3 satisfied exactly and not use a calculator
T o -
arg z—arg 2% =— = —é = —é’ giving approximate results.

= arg i verifving the result
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d 4
'}II X
X Z
In the Argand diagram, vou must place
- points representing conjugate complex
o - numbers svmmetricallv about the real x-
> ;
w axis.
z* *Z

If x=c and x= 5 are the solutions of a

gquadratic equation, then the equation, after it
has been factorised, must be [x—cfj (2— Bl=0

e (x—z )(x—z, ) =(x—V3+i)(x—V3+i)
=[x—x-'3j1 +1

=x"—243x+3+1
=x —243x+4

The equation is x* —2+/3x+4=0._

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 24

Question:

_1+7i
4+3i°

a Find the modulus and argumentzof
b Write down the modulus and argumentof

In an Argand diagram, the poimisandB represent + 7i andl+3i respectively adds the origin. The quadrilater@ABC is
a parallelogram.

¢ Find the complex number represented by the fint

d Calculate the area of the parallelogr

Solution:
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1+ X4—3i _4-31+281+21

T443i 4-3i 0 47+3

You can see from the diagram that the
! T i
argument is 45° = — and vou need give no

further working.

z* is the symbol for the conjugate complex of =z and

& vou use the relations |z*|:|z| and arg z¥*=—arg z
¥ x to write down the answers.
A(L7)
You are not asked to draw an Argand diagram
B H 3) «——— in this question but vou will certainly need to

sketch one to sort out parts (c) and (d).

a x

C

Let the complex number represented by the You use the representation of the addition of

point C Ibe = complex numbers in an Argand diagram. The
OABC is a parallelogram. Therefore diagonal OF of the parallelogram represents the

OA+0C=08 «— ‘//f addition of the two adjacent sides, 04 and OC, of
1+7i4+w=4+31

the parallelogram.
w=3—4i

OB*=4+3'=25 = OB=5
0C*=(-3)" +4*=25 = 0C=5

The gradient of OF is given by m =

e | e

The gradient of OC is given by m':—%L

mm' =—1 and, hence, OB is perpendicular to OC.
The area of the right-angled triangle OBC is given by
1

area = %basexheight=% x3x53=12-

e~ i

The diagonal of the parallelogram
divides the parallelogram into two

i / congruent triangles.
The area of the parallelogram is 2x12— =125

5

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 25

Question:

Given that:f—f: =i ,wherg is a positive, real constant,

a show that = (& + 1) +i(& —1) .
2 2
Given also thatan(argz) :% , calculate

b the value of. ,

c the value ofz|2 .

Solution:

You start this question by “making =
the subject of the formula™; a
method vou leamt for GCSE.

R

(9] | x

If z=x+iy. then tan|argz) =
x

2A—-4=4A+2 = Ai=56 Multiplving all terms in both the
numerator and denominator by 2.

¢ Substitute A =6 into the result of part (a).

s % &N
z=|=+1|+i|=-1|=4+2i
IR Yy

|z =4*+27 =20

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 26

Question:

The complex numberg=2+2i amgl=1+3i are represented on améjagram by the point andQ respectively.
a Displayz andz on the same Argand diagram.

b Find the exact values @2f |, || and the lengtiPQt

Hence show that

¢ AOPQ, whereQ is the origin, is right-angled.

Given thatOPQR is a rectangle in the Argand diagram,

d find the complex numbes; represented by the gRint

Solution:
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.}'”“
=0
%P
0 "
|ZIJ=23+23=8=4><2 — |zl|=212

=+10

4

|z, [ =1?+3* =10 =
2 2) You use the formula PO* =(x, — :qjl +(3, —}'1}]
h din L d@i(l3 ) "
PR ::Ltes -3 = "‘1[ -3) / from Coordinate Geometrv to calculate PO~
PO =(1-2) +(3-2) =(-1) +I'=2
Pd=+2

From (b), OP=2+~2 and 0Q =+10.
0P +PQ* =(22)' +(42)°

=8+2=10

=00*
Bv the converse of Pyvthagoras’ Theorem,
AOPQ is night-angled.

L

¥

v

&)
R < £

a x You use the representation of the addition of

complex numbers in an Argand diagram. The

e s A diagonal 0 of the parallelogram represents the
?P :.OR i > addition of the two adjacent sides. OF and OR. of
2+2i+z;=1+3i the parallelogram. (A rectangle is a special case
Z=—11 of a parallelogram. )

© Pearson Education Ltd 2C
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Exercise A, Question 27

Question:
The complex numberis given byz=(1+3i)(p+di) , where andq are real angh>0 .

Given that argz = % ,

a show thatp+2g=0 .
Given also thalz |= 102 ,
b find the value op and the value df.

¢ Write down the value oafrgzD .

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 27.l 3/18/201.



Heinemann Solutionbank: Further Pure

a z=(143i)(p+gqi)
=p+gi+3ipi—3q

=[:p—3q:1+|:3p+qji

7T

arg z=—, given
4

tan[argz}=tan§

3p+@'_1
p—3q

3ptg=p—3g = 2p+4g=10
= p+2 =0, as required

b |z[ =(p-3¢) +(3p+4) =(10+2)
pr—6pg+9° +9p  +6pg +q° =200
10p* +10g* =200

pr4gt=20 . . 0
From the result of part (a)
p=—-2q ... ..... (2]

Substitute @ into @

497 +g" =20 = 5¢° =20 = ¢* =4

g =12
g =2 substituted into @ gives p=—4_As
p =0 is given in the question, this solution
is rejected and g =-2 is the onlv answer.
p=4.,g=-2

:

¢ argz

i
-

4

© Pearson Education Ltd 2C
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If z=x+i y, then tan(arg z) =
o

© and ® are a pair of simultaneous
equations, one of which is quadratic and
the other linear. The method of solving
theseis given in Edexcel AS and A
Level Modular Mathematics Core
Mathematics 1, Chapter 3.

You use arg z* =—arg z to wrte down this

: T
answer. Y ou were given that arg z = P
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Review Exercise
Exercise A, Question 28

Question:

The complex numberg amgl are givergpy5+i, zp=2-3i
a Show points representing agd on an Argand diagram
b Find the modulus of -2z .

¢ Find the complex numbezz+1— in the foemib , whar@ndb are rational numbers.
2

d Hence find the argument ?Zi , giving your answeiidians to three significant figures.
2

e Determine the values of the real constarasdq such that::‘t%:;’il =2i .
- 2
Solution:
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d

If vou recognise the 3.4.5 “triangle”, vou
can write the answer 3 down without
further working.

z; 541 2431 10+15i+21-3 i :
sl T T The question asks vou to put vour answer in
z, 2-31 243 2°+3 the form a+ib . where g and b are rational
o 7+17i :l Ei -3 numbers. Fational numbers are exact
13 13 13 fractions and so ﬁ and i— satisfv the
ph A conditions of the question. Approximate
i decimals would not be acceptable
u
]
g
= =
o = X
17
13 17
tand=13 =— = 91180
7
13

~L isin the first quadrant
-

arg 2= 1.18, to 3 significant figures

z;
p+ig+3z,=2i(p—ig+3z)
p+ig+15+3i=2pi+2g+6i(2-3i)
=2pi+2g+12i+18
Equating real parts
p+15=29q+18 = p—-24=3 ... 0©
Equating imaginarv parts
g+3=2p+12 = -2p+q=9._. @
02 2p—4g=6... 8
a8+e —3g=15 = g=-5
Substitute into @
p+10=3 = p=-T
e

You find two simultaneous equations by
equating the real and imaginary parts of the
equation.

© Pearson Education Ltd 2C
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Exercise A, Question 29

Question:

z=a+ib, wherea andb are real and non-zero.

aFindz? and% in terms &f andb, giving each answer in the forxx-iy , wherandy are real.
b Show thaz? |= a%+b? .

¢ Findtan(argz?) andan(arg %) , in terms af andb.

On an Argand diagram the poii'f’ilrepresentss2 and the pot@trepresent% an@ the origin.

d Using your answer tc, or otherwise, show thatP, O andQ are collinear, the3a? = b°.

Solution:
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a  z'=(a+ib)’ =a*+2abi—b*

=(a*—b*)+2abi

l= 1 Xa—ibza—ib
z a+ib a—-ib a +b
e B
A aJ+E:111

" —(a*—5%) +(2ab)
=a'-2a'b" +b* +4a’t’
=a*+2a’0" +b* =(a’ +¥°)

.
b |¢

Hence |z: |=c1J +5°, as required.

d IfP O and Q arein a straight line then
; o i A
tan|argz” | and tan| argl | must be equal.

L
2ab b

2at=—a +b"

3a’= b, as required

© Pearson Education Ltd 2C
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If z=x+iy. then tan[argz] =2 Youthe
x

use the answers in part (a).

¥

If P and  are in the same quadrant, this is
obvious, but when thev are in opposite quadrants
this is not so clear. A possible case is shown
above.
tan (arg 2% | = tan | ~(T—8))=tan (8- x)

R ()

=tan & =tan arg—
e

tan [9 - FI} =tan & because the function tan has
period /. (This is in the C2 specification)
You would not be expected to explain this in an
examination.
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Review Exercise
Exercise A, Question 30

Question:

Starting withx = 1.5, apply the Newton—Raphson proceduee tof(x) = x3-3 to obtain a better approximation to the
cube root of 3, giving your answer to three deciplates

Solution:

flx)=x -3 \\The cube root of x is the solution of
B x' —3=0. 1.5 is the first approximation and
vou have to find a second approximation
using the Newton-Faphson formula

£'(x)=3x" X =X, — f,[_x’:J\ )
f(15)=15-3=0375 L
£'(1.5)=3x15% =675

f(1.5) It is a good idea to write down the Newton-
x=15~ £ h 5] Faphson formula and adapt it to vour solution.
_: The examiner will then know what yvou are
=1 5= 0.375 doing.
6.75

=1.444 to 3 decimal places «—__ Correct the answer to the number of decimal

places vou are asked for.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 31

Question:

f(x) = 2 +x- 4. The equatiof(x) =0 has a raot in the interval [1\ e linear interpolation on the values at the end
points of this interval to find an approximationa.

Solution:

f fx] =Y +x—4 The first stage of a linear interpolation is to

o i evaluate the function at both ends of the
f[l] e 7 interval.
f{2)=2"+2-4=2

a-1
. A diagram helps vou to see what is going on
/ 2 and, as vou are going to use similar triangles,
12
. to see which sides in one triangle correspond

| =7 : : . .
1 & \x = to which sides in the other triangle.

&

1 5 Solve the equation to find o .

This is an exact answer. There is no need to
- correct to a given number of decimal places as
vou have not been asked to do this.

© Pearson Education Ltd 2C
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Exercise A, Question 32

Question:

Given that the equatio®~x-1=0 has a root near 1.3, apeljNewton—Raphson procedure onctxp= x> -x -1 to obtain
a better approximation to this root, giving yousaer to three decimal plac

Solution:
Let f(x) =x —x—1
£'(x)=3x"-1

£(13)=-0103
£'(13)=4.07

Remember to correct vour answer to the

: *_'___._________._.—-—-—-—4— number of decimal places asked for in the

question.

© Pearson Education Ltd 2C
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Exercise A, Question 33

Question:
f(x) = x3— 12 + 7.
a Use differentiation to find'(x) .

The equatiorf(x) =0 has a root in the inter%lad x<1

Pagel of 1

b Takingx = % as a first approximation & , use the NewRaphson procedure twice to obtain two further agprations to

a. Give your final answer to four decimal plac

Solution:
a £ix)=3x =12 o . ) o .
0.5 | or — | is the first approximation, which
b % =05 L2

£(05)=05 -12x05+7=1125
£'(05)=3x05"-12=-1125

in a long calculation.

even at A level!

£(0.6)=06" -12x06+7=0016
£'(0.6)=3x06"-12=-1092

vou are given. Y ou have to find two more
approximations. It is useful to call the first
approximation x.the second x; . the third x;.

etc. This helps vou keep track of where vou are

The signs need care here. Missing that “minus
a minus is a plus” is a major source of error,

X=X ——
' ()
0.016 Remember to correct vour answer to the
=0 -10.92 = NS number of decimal places asked for in the
=0.6015. to 4 decimal places question.

© Pearson Education Ltd 2C
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Exercise A, Question 34

Question:

The equatiosinx = %x has a root in the interval [1.8, 2]. Use lineaeipblation once on the interval [1.8, 2] to findestimate
of the root, giving your answer to two decimal pla

Solution:

In this question vou have not been given f ij

f{x)=sin x—lx
' 2 \ and have to choose a function vourself. To
|

choose [r] =sin X=X is sensible as

e

I [:x:I =0 is obviously equivalent to the

; ; 1 ;
equation sinx=—x. which vou are asked to

i

solve.

£(1.8)=007384 ... Remember to work in radians. The final
g " < answer has to be given to 2 decimal places and
f f"J ==0.00070 ... vou must work to sufficient accuracy to
achieve this. 3 decimal places will certainly be
enough to achieve this but there is no harm in

i iving more decimal places.
0_0?334\ S £

5
18 .1\5 0.09070 It is a common error to use —0.09070 instead
Ty of 0.09070 here f [I]is negative but the

number is the length of a side in the diagram
and lengths have to be positive.

Bv similar triangles

x—18 . 2—x
007384  0.09070

The numbers are quite difficult here. Use vour
calculator to help vou “cross multiply™ and

i h ctly.
0.09070xx—0.16326 = 0.14768—0.07384x e Rey

0.16454x=031094

Your answer must be corrected to 2 decimal

x= Ll ~1.89. to 2 decimal places. +— places — the accuracy specified in the question.

0.16454

© Pearson Education Ltd 2C
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Question:

f(x) = x* +3x3- 4x - 5. The equatiof(x) =0 has a root between1.2  and.6 . Stantithgthe interval [1.2, 1.6], use interval
bisection three times to obtain an interval of Wiit05 which contains this ro

Solution:
The mid-point of the interval [1-1 1 -5] is You start interval bisection by dividing the interval
12416 k_ﬁf——ﬁ——j into two equal parts by findin g the mid-point of an
3 =14 mterval.
£(1.2)=-2.5424 <0 It is not always necessary to calculate the
£(14)=14736>0 walues at both ends and thle mid-point. In this
_ ’ _ case vou already have a sign change between
(f [1-5] =T74416) = x=12 and x=14 and, soit is not necessarv
There is a sign change between x=1.2 and to calculate the value of £ [1_6].
x2=16.

Hence, the root lies in the interval [:1.1 1.4).

The mid-point of the interval [1.2.1 4] is

»
12+14 R

3

£(13)=-07529 <0

f{14)=14736>0, from above.
G ¥ You calculated f (1.4) earlier and thereisno

There is a sign change between x=1.3 and need to calculate it again.

x=14.
Hence, the root lies in the interval [:1.1 1.—1).

The mid-point of the interval [1.3= 1.4] 15

13414
—— =

-

1.35

f(1.35)=0.30263 =0 from above.

f (1.3] =—0.7529 <0
There is a sign change between x=13 :md/ 135-13=005 and so this interval satisfies

+=135 the requirements of the question.

Hence, the root lies in the interval (1.1 1.35] i Quartic equations ean be solved exactly. You
mav have access to a computer package or
advanced calculator which can do this.
x=1336 20 is accurate to 5 decimal places,

which confirms the result of vour calculation.

© Pearson Education Ltd 2C
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Exercise A, Question 36

Question:
f(x) =3 tar(g)—x—l, -r<X<m.

Given thaff(x) =0 has a root between 1 and 2, use linganpiolation once on the interval [1, 2] to find @pproximation to
this root. Give your answer to two decimal pla

Solution:
X x Unless it is clearly stated otherwise, all
f (x)=3tan L ?j —x=1 t—_— questions on this topic require vou to work in
- radians. Make sure vour calculator is in the
correct mode.

£(1)=—03611

f [2] =16722 The final answer must be to 2 decimal places.
To achieve this vou must work to at least one
more decimal place and it’s safer to work to

more. 4 decimal places will certainly be
enough here.

—
=33
=]
[
o)

1r, e B et ey et e

1
0.3611 /‘

Bv similar triangles

x—1 2—x

0.3611 16722

16722x-16722=0.7222-03611x

2.0333x=239442
Correct vour approximation to x to 2 decimal

A4
¥ :2'3944" =1.1776 = places.

2.0333

x =1.18, to 2 decimal places

© Pearson Education Ltd 2C
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Exercise A, Question 37

Question:
f(x) = 3*-x-6.
a Show thaf(x) =0 has aroat betweenl an®

b Starting with the interval [1, 2], use intervaldaition three times to find an interval of width Z6lwhich containa.

Solution:
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“ £{xm)=3" =05
£(1)=3-1-6=—4<0
£f(2)=9-2-6=1>0

When vou are asked to “show that™, or “prove
; ; that™ a result is true, vou should give a
There is a sign change between x=1 and ; 2 5
—_— conclusion to vour argument. It is alwavs safe

to base the wording of vour conclusion on the
Hence the function f (x)has aroot @ between,—

wording of the question, as has been done
x=1 and x=2. here.
b 1+2 15 At each stage of an interval bisection question,
—— =13

——— vou begin bv dividing the interval into two

equal parts by finding its mid-point.
£(1.5)=-23038 ... <0

£(2)=1>0.fromabove. «—_  yoy calculated £ (1) and £ (2) in part (a) of
There is a sign change between x=1.5 and

the question and there is no need to calculate
x=1. them again in part (b).
Hence @ = [:l.i 2].

£(1.75)=-09114 <0

f[:l_] =130, from above.

There is a sign change between x=1.75 and
x=2.

Hence ae(1.75.2).

17542

=1.875

[ )

£(1.875)=—-0.0298 <0

f[:l] =1=0_ from above.
There is a sign change

between x=1.873 and 2—1.875=0.125 and so this interval satisfies
=20 /’/ the conditions of the question.
Hence e [I.S?i 2).

© Pearson Education Ltd 2C
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Exercise A, Question 38

Question:
Given thatx is measured in radians afig) = sirx-0.4x
a find the values of f(2) and f(2.5) and deduce thatequatiof(x) =0 has araot in the interval [2,,2.5]

b use linear interpolation once on the interval®] to estimate the value «, giving your answer to two decimal plac

Solution:

4 f(x)=sinx—04x
f[l] =0.10929 =10
f[I.S] =—040152 ... =0

There is a sign change between x=2 and
=2

Hence the equation ['_x] =0has aroot & in

the interval [2, 2.3

b l You have calculated the values of f [:x] at the
end points of the interval in part (a) and these
0.1093 \\ / values can be used in part (b).
By similar triangles The answer needs to be given to 2 decimal
a2 25— ‘_,,/-—’—“_'/J places; that will be 3 significant figures. It will
0.1093 04015 be sufficient to work to 4 significant figures
here. There would be no harm in using more
04015 —-0.8030=02733-0.1093¢ significant figures but if vou onlv worked to 3
N5108ax=1.0765 significant figures the last figure might be
ot = 2.11, to 2 decimal places. inaccurate.

© Pearson Education Ltd 2C
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Exercise A, Question 39

Question:

T

f(x)= tarx+1-4x, -Z <x<Z.
2 2

a Show that(x) =0 has aroet intheinterval [1.42,1.44

b Use linear interpolation once on the interval 21.4.44] to find an estimate «, giving your answer to three decimal pla

Solution:

f(x)=tan x+1 —dx? To show a change of sign, you only need to
calculate the values of the function to one
significant figure. However later in the
question vou are asked to give vour answer to

3 decimal places {(which will be 4 significant
figures). It is sensible to work out and write
down at least 5 significant figures here. You do
not want to carry out or write out the
caleulations twice. It often pays to read quickly
the interval [1 #42.1 _44] I through a question before vou start it.

/ 0.30743

o 1.44

a
£(1.42) ~—048448 <0
£(144)~030743>0

There is a sign change between x=142 and
x=144.

Hence the equation f [x] =0hasaroot & in

[=1

]

048448

By similar triangles
a—-142 144-a
048448 030743

(0.30743+0.48448)
= 144x0.48448+142x0.30743

0.7919x =1.1342018
& ~1432, to 3 decimal places.

© Pearson Education Ltd 2C
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Exercise A, Question 40

Question:

f(x) = cosyX —x

a Show thaf(x) =0 has aroat in the interval [0.5, 1].

b Use linear interpolation on the interval [0.5, dobtain an approximation to . Give your answer to decimal places.

¢ By considering the change of sign of)fover an appropriate interval, show that your answbris accurate to two decimal
places

Solution:

a f[:x;lzcc'sx'x—x
In this topic, angles are measured in radians,

£(0.5)=0.2602 =0 «——  unless otherwise stated.
f(1)=—-0.4597 <0

There is a sign change between x=0.5 and

x=1.

Hence the equation f (x) =0has aroot & in

the interval [0.5.1].

0.2602 | N
0

B 2t

/._.
=
i
Lh
o
-

By similar triangles
a-05 1-a

02602 04597

0.4597¢—0.2299=0.2602 —-0.2602c
0.719%9a =0.4901

o = 0.68. to 2 decimal places If 0.68 is accurate to 2 decimal places then o

must lie in the interval 0675 < o <0.685_ Any

c £(0.675)=0.00606 ... > U*\ number in this interval rounded to two decimal
f [0.685] =—{00B38 ... .<0 = places is .68, You evaluate f [:x] at the end
There is a change of sign and, hence, points of this interval and, if there is a change
o e [[}_5?1 0.685) . of sign, vou know that & lies in the interval

and vou can deduce that (.68 is accurate to 2

Hence o =0.68 is accurate to 2 decimal ;
decimal places.

places.

© Pearson Education Ltd 2C
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Exercise A, Question 41

Question:
f(x) = 2¥-x2-1

The equatiorfi(x) =0 has aroot between4.256  mnrd.26

a Starting with the interval [4.256, 4.26] use interval bisectivae times to find an interval of widsh« 10

b Write down the value ¢, correct to three decimal plac

Solution:

£(4.256)=-0.0069 ... <0

£(4.258)=00025 ..>=0 =
There is a sign change between x=4.256 and
x=4238.
Hence a =[4.256. 4.258].

4256+4 258
2

4257

f[4.25?] =-00021..=0
f[:4.258]: 0.0025 ... =0, from above

There is a sign change between x=4.257 and
x=4238.
Hence o e[4.257.4.258].

f['_-'l_lﬁ?_] =-00021 ... =0, from above
£(4.2575)=000018 ...>0

There is a sign change between x=4.257 an
x=42575.
Hence o €[4.257.4.2575].

b Ascxc[4257.42575]. then «—

o =4.257 is accurate to 3 decimal places.

© Pearson Education Ltd 2C

As vou already have a change of sign, there is
no need to calculate f [4.26_] !

42575—-4.257 =0.0005 . which is the same as
5x107, and so the interval [4.257,4.2575]
satisfies the conditions in the question. The
open interval [4.251 4.25?5] would also be

coIrect.

Any number in the interval [4.257.4.2575]
rounded to 3 decimal places would be 4 .257.

Accurately o0 =4.257 4619 ... which is 4.257,

to 3 decimal places.
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Exercise A, Question 42

Question:

(0 =2¢+3-3

The equatiof(x) =0 has aroot inthe intedl< x < 0.5

Pagel of 1

a Use linear interpolation once on the inte¥@l< x < 0.5 find an approximation te . Give your answer to ¢hdecimal places.

b Findf'(x).

¢ Taking 0.4 as an approximatione, use the Newtc—Raphson procedure once to find another approximagio.

Solution:

a f[:x:|=2r:+l—3
x

£(03)=051333 _ >0
£(05)=—05<0

|
0.51333& et

0.3

/
e
LA

By similar triangles
a—035 05-a
0.51333 035

(0.5+0.51333)x =0.5x0.51333+0.3%0.5

1.01333a = 0.4066

g = 0401, to 3 decimal places.

1 N = =
— =x"" and the rule for differentiation
x
d

] 1 !
b f'(x)=4x—— -4_._._‘________*_____-_ —(x")= " gives
x dx* ¢

¢ £(04)=—-018
£(04)=—465
_£(04)

=04-——0r
* F7(0.4)

i OiR
465
a ~0.361

© Pearson Education Ltd 2C

d

—['x'l\]z—lxx': =—i1
e =

No accuracy has been specified in the
question. Giving the answerto 2 or 3
significant figures is reasonable.
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Exercise A, Question 43

Question:
f(x) =0.25% - 2+4 sinyX.
a Show that the equatid(x) =0 has areot between.24  xar28

b Starting with the interval [0.24, 0.28], use im@rbisection three times to find an interval ofithi 0.005 which contaira

Solution:

[:x] =025x—2+4dsinyx *——— Remember to carry out the calculations in
radian mode.

f

£(0.24)=-006<0

£(0.28)~0.09 >0 \ In a question where you only have to consider
: il T Gy sign changes, vou need only work to one

There is a sign change betwe i 1 .

£=0.28 significant figure. The solution shown here
S . gives the minimum of working. You can, of

Hence the equation f (x) =0 has aroot & course, show more decimal places if vou wish.

between x=024 and x=028%.

a

024+028

7

i

£(026)=0.02>0
£(0.24)=—0.06 <0, from above

0.26

There is a sign change between x=024 and

x=026.
Hence z £[0.24.0.26].

024+026

7

£(0.25)=-0.02<0

f[:U.Eﬁ] = (.02 = 0, from above
There is a sign change between x=0.25 and
x=0.26.

Hence  £[0.25.0.26] .

0.25

0.25+0.26

=0.255

b |

|

£(0.255) ~ ~0.001 <0
£(0.26)~ 0.02 >0, from above

There is a sign change between x=0.235 and
x=0.26.
Hence a€[0.255,0.26].

© Pearson Education Ltd 2C
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Exercise A, Question 44

Question:

f(x) = X3+ 8x - 19,

a Show that the equatid¢x) =0 has only one real root.
b Show that the real root &k) =0 lies between 1 and 2.

¢ Obtain an approximation to the real roof(ef = 0 byfgening two applications of the Newton—Raphson procedao f),
usingx =2 as the first approximation. Give your answehtee decimal places.

d By considering the change of sign of)fover an appropriate interval, show that your answeris accurate to three decimal
places

Solution:
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a £'{x)=3x"+8
As forallx, " =0, f'[x]}gb 0 for all x.
As the derivative of f [:r] is always positive,

f (x) is always increasing.

b Y

G/ X

Asf [x}is alwaws increasing it can only cross

the x-axis once. as shown in the sketch and,

hence, the equation f [:x'] =10 has onlv one real

root.

b £(1)=-10<0
£(2)=5>0

There is a sign change between x=1 and
x=2.

R

Page2 of 3

Drawing a sketch diagram helps vou to see
what is going on. If the function is always
increasing, after crossing the x-axis it can
never turn round and cross the axis again.

Y ou should give a conclusion to this part of the

Hence the real root of f (x) =0 lies between question. You can word the conclusion by

x=1and x=2_

£(1.75)=0359375
£'(1.75)=17.1875
coprs D) .. 0359387
; £(1.75) 171975
#1739 t0'3 Aeciinil plices
d  £(1.7285)~—0.0077 <0

£(1.7295) % 0.0092 > 0

There is a change of sign between x=17285
and x=1.7295  Hence the root of the equation

lies in the interval [:1.?285= 1_?295] ;

It follows that the root is 1.729 cormrect to 3
decimal places.

© Pearson Education Ltd 2C
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modelling it upon the wording in the question.

This is the Newton-Raphson formula

f [’xj,j . .
X,., =X, ———— with the values that apply in
£'(,)

this question.

If 1.729 is accurate to 3 decimal places then o
must lie in the interval 1. 7285 < ar<1.7295 .
Anv number in this interval rounded to 3
decimal placesis 1.729. You evaluate f [:x)l at
the end points of this interval and, if thereis a
change of sign, vou know that the root lies in

the interval vour answer is correct to 3 decimal
places.
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Exercise A, Question 45

Question:

f(x) = x3-3x-1

The equatiof(x) =0 has arapt in the intefval, - 1]

a Use linear interpolation on the values at the exidke interval-2, — 1] to obtain an approximatioruto .
The equatiofi(x) =0 has a rgét in the intefval 0]

b Takingx =-0.5 as a first approximation go , use the NewRaphson procedure once to obtain a second approainta
p.

The equatioix) =0 has aropt in the interval [1.8].1.9

c Starting with the interval [1.8, 1.9] use interlédection twice to find an interval of width 0.0@%ich containg .

Solution:
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a £(—1)=(-1)"-3(-1)-1=—-14+3-1=1
£(-2)=(-2) -3(-2)-1=-8+6-1=-3

! -1
3
| Finding distances on the negative x-axis can be

/ difficult. The distance is the positive difference
I between the coordinates, so you must subtract

a—(-2)
3 1 the coordinates and. as & —[—2) =+ 2, this
ag+2=—"-3cx will be positive when & is between —1 and
4o =-5 2.
o =—125
b £'{x) =3x" =3
f [—[}.Sj =0375

1

f'[—U.S] =—2125 This expression evaluates as exactly —< but as
f(-0.5) 0375 / this is an estimate of £, and not an exact value

B=-05 _f'[—D_S-\] = of A _itis sensible to give the answer to 2
decimal places.
G=-33
¢ 1.8+19

-

£(18)=-0368<0
£(1.85)=—-0218 <0

£(19)=0.159>0

There is a sign change between x = 1 85 and
=14
Hence e [1.81 1_9].

185419 _

2
£(1.875)~—0.0332 <0

f [1.9] =0.1539= 0. as above

1.875

There is a sign change between x=1873 and
r=19.

Hence y=(1.875.1.9).

© Pearson Education Ltd 2C
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Exercise A, Question 46

Question:

A point P with coordinatesx, y) moves so that its distance from the point (Ss@qual to its distance from the line with
equationx = -5 .

Prove that the locus & has an equation of the foryd =4ax , stating the value of

Solution:

A diagram helps vou see and understand
what is going on. You should label
important points. If letters are not given
in the question, vou can make vour own
up. Putting them on a diagram makes
vour method clear to the examiner.

Using the formula
d’ =(25—x) +(»1'1_}';_]] LIt

is often easier to worlk with

By the dEf‘lHitiDI} of a parabola the distances squared rather
SP1= PN than with distances.
SP== PN

§(5.0), P(x.3)
B 1 - Along PN, the distance from P to the
SP=(x-x) +(3n-1) y-axis is x, and it is a further distance

= LJL—SJ‘—:'//“ 5 from the y-axis to N.
PN=x+5

SP* = PN?
(2— 5]: +y° = (x+ 3) ” Multiply out the brackets using
)((—mx+\2‘§\+}'::/f/+1[]x+\2‘§\.‘— (a+B) =a’+2ab+b" . Then

“rancel” the equal terms on both
sides of the equation.

v =20x

Comparing with 1° =4ax . this is the

required form with a=35.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 47

Question:

A parabolaC has equatio? = 16x . The poitis the focus of the parabola.

a Write down the coordinates &f

The pointP with coordinates (16, 16) lies @

b Find an equation of the lir#, giving your answer in the forax+by+c=0 , wheaeb andc are integers.
The lineSP intersect<C at the poinQ, whereP andQ are distinct points.

¢ Find the coordinates Q.

Solution:
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il

8

/{(iaﬁﬁ]

L J

L~

Page2 of 2

Y ou should mark on vour diagram any
points given in the question. Here mark 5,
P and 0. Diagrams often help vou check
vour working. Here, for example, it is
obvious from the diagram that (0 must have
a negative y-coordinate. If vou got y =4

{a mistake it is easy to make), vou would

il
-

know vou were wrong and look for an error
in vour working .

S [:—1 U‘_] -— o

!

The focus of the parabola with equation
v? =4ax has coordinates [aﬁ]. Here a=4.

The question asks vou to write down the
answer, so vou do not have to show worldng.

with

nn —

(% }'1}:[:4= 0) and (x,. 3, )=
an equation of SP is
y-0 x-4
16-0 16-4
y x—4
16 12
W y=16" (x-4)
Jy=4x—16
4x—3y—-16=0

(16,16).

C

From (b)
_3y+16
4
Substitute for x in 'L': =16x

5 =}64| 31. +16)

\ A
1-1—12}-—54=0_

(1+—1 =0
=16 cm‘respcnds to the point P.

=12y +64]
J

(y=

For O, y=—4
_3x—4+16 4
S s

The coordinates of (J are [:L —4].

© Pearson Education Ltd 2C
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Methods for finding the equation of a straight
line are given in Chapter 3 of Edexcel AS and
A-Tevel Modular Mathematics. Core
Mathematics 1. You can use anv correct
method for finding the line.

To find Q vou solve the simultaneous
equations 4x—3y—16=0 and 3° =16x.
The method of using substitution, when
one equation is linear and the otheris
guadratic, is given in Chapter 3 of
Edexcel AS and A-Tevel Modular
Mathematics, Core Mathematics 1.
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Question:

The curveC has equations= 32, y=6t .

a Sketch the graph of the cur@

The curveC intersects the line with equatign=x-72  at the pokendB.

b Find the lengttAB, giving your answer as a surd in its simplest fi

Pagel of 1

Solution:
a
4 -
¥ You have to recognise that x=3¢r", y =6¢
is a parabola and draw it passing through
the origin with the correct orientation.
@)
B
/
b For the intersections, substitute x=3¢", v =6¢ [3r2= 6¢) is a general point on the parabola.
: i gy \ ! .
=] T b= The points 4 and B must be of this form
6r=3r"—712 and, if they also lie on the line with
3 —66-72=0 equation ¥ =x— 72, the points on the
(=3) 1 —2:-24=0 parabola must also satisfv the equation of
(1—6)(z+4)=0 Hhe s
r=6.—4

Foiid sav. #=6 % The question does not tell vou which point
T is 4 and which point is B but, as vou are
=37 =108, y=6r=36 o 5 =g
* 2 only asked to find the distance between
them, it does not matter which is which and
vou can make vour own choice.

For B say, t=—4
x=3t" =3x(—4) =48, y=6:=-24

Using d* =[I1—Xq)j +|:J-'1_J*':):

ABE= (108- 43]: +(36 _(_34]]1 You are askled to give vour answer as a
. Ex: I : surd in its simplest form. 84 85 is not
=607 +60"=2x 50 acceptable as it is not a surd and v 7200

AB =+ flx 60° ] =60v24— | isnot the simplest form. A surd in its
simplest form contains the square root
of the smallest possible single number.

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 49

Question:

A parabolaC has equation? = 12x . The poirsandQ both lie on the parabola and are both at a dist&rfcom the directrix
of the parabola. Find the lencPQ, giving your answer in surd for

Solution:

+—r 8§ —>
3 pe— p —»

v

0

=

The directrix of ' =4axis x=—a.
" 2 v 2
Comparison of v =4ax with y° =12x

shows that, in this question, a=3.

The equation of the directrixis x=-3.
If the x-coordinate of Pis p,
p+3=8 = p=>5
The y-coordinate of P is given by
¥ =12x=60 = y=+60

By symmetry, the coordinates of O are (5. —+/60)

P is vertically above () and the distance

PO =260=9415

© Pearson Education Ltd 2C
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from P to O is twice the 1—coordinate of P.
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 50

Question:
The pointP(2, 8) lies on the parabo@with equationy? = 4ax . Find
athe value of,

b an equation of the tangent@oatP.

The tangent t&€ atP cuts thex-axis at the poinK and they-axis at the poinY.

¢ Find the exact area of the trianiOXY.

Solution:

a Substitute [l S] into v: =4ax.

64 =daxI=8g = a=1—-=138

dy: b ot

— = —Fatl’ g

dc 2 ¥
When a=8 and x=2

dy B 242

de 2 A2

Using y—y = m[:x—xlj . the tangent

toCatPis \

s 3
e

y—8=2(x-2)=2x—4 *
y=2x+4
c AtX y=0 = 0=2x+4 = x=-2
So 0¥ =12
AtY x=0 = y=2x0+4 = v=4
S0 0Y =4

Area &GX}'=%DX 3 O}’:% % w4 =4

© Pearson Education Ltd 2C
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The method for obtaining the equation
of a straight line when vou kmow its
gradient and one point which it passes
through is given in Chapter 5 of
Edexcel A5 and A-Level Modular
Mathematics, Core Mathematics 1.
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Exercise A, Question 51

Question:

The pointP with coordinates (3, 4) lies on the rectangulardnpplaH with equatiorxy = 12 . The poir® has coordinates
(-2, 0). The pointd andQ lie on the lind.

a Find an equation df giving your answer in the form=nx+c , whareandc are real constants.
The linel cutsH at the poinR, whereP andR are distinct points.

b Find the coordinates R.

Solution:
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You can see from the diagram that
both the x- and y-coordinates of R
are negative. This will help vou
check vour work in part (b).

H
. ¥— - e N
a Using — =L = L with «—— |
¥i—h AH—xH

P(x.y)=(3.4) and Q(x,. »,)=(-2.0).

Methods for finding the equation of a straight
line are given in Chapter 5 of Edexcel AS and
A-Tevel Modular Mathematics, Core
Mathematics 1. You can use any correct
method for finding the line.

y—4 x—3 /
D=df  <F=3
y—=4 x—
4 5
5(y—4)=4(x-3)
5v—20=4x-12
Sv=4x+8
1-%1+§ ...... *

b  Substitute * into the equation of H.

Part (b) involves solving a pair of
simultaneous equations, one of which is linear
and one of which is quadratic, asxyis a
quadratic term. Substitution is used to solve
such pairs of equations.

x =12
4 8
xrf—x+— =12
L5 5)
4 8

x:+Ex=12 = 4" +8x=60

' +2x-15=0
(x+5)(x-3)=0
x=-—53
x=73 corresponds to the point P.
ForR, x=-—5 *
12 12

¥ 24

There are two points on both the line [ and
the parabola H. You are given the

coordinates of one (3, 4) in the question.
Y ou are looking for the other point, so vou

must reject the value of x (3) which
belongs to P and take the other value.

x -5
The coordinates of R are [—5=—2.4:I

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 52

Question:

The pointP(12, 3) lies on the rectangular hyperbblavith equatiorxy = 36 .

a Find an equation of the tangentHaat P.

The tangent ttd atP cuts thex-axis at the poinM and they-axis at the poini.

b Find the lengtiMN, giving your answer as a simplified st

Solution:
a }.“.
\H
P(12.3)
0 M
J;=E=3L‘:»x'_l *
x

W oS 20

dx x5

At P, x=12

(&) _ 36 1

lac), 12 4

Using v—3, =m (x—:'c1 ) . the tangent
to Hat Pis

1
gty
¥ 4(x )

4y-12 =—x+12
x+4y=24

b AtM v=0 = x=24 = OM =2+
AMMx=0= y=6=0N=06
MN? =0M? +0ON?

=241+ 6" =612=36x7
MN=6V7 =

Wi S ),
()

d 1 3 1

—t e Ang e ag e
> 2T x

No particular form of the equation
of the tangent has been specified
and anv form would be accepted.
x+4y=24 has been chosen here

as, reading ahead, vou will have to
substitute x=0 and ¥ =0 into the

equation to find the comresponding v

and x._ Tt is verv easv to do this with
this equation. Reading ahead can
often save time.

© Pearson Education Ltd 2C

A surd in its simplest form has the
square root of the smallest possible
single number.
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Exercise A, Question 53

Question:

The pointP(5, 4) lies on the rectangular hyperbblavith equationky = 20 . The linkis the normal td1 atP.
a Find an equation df giving your answer in the forax+by+c=0 , wheaigb andc are integers.

The linel meetsH again at the poir®.

b Find the coordinates Q.

Solution:
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The normal to A at F is perpendicular to
the tangent at P_ The tangent has here
been drawn as a dotted line. To work out
perpendicular gradients vou will need
the formula mm'=-1.

X
y= E =20x7"
x You have to find the gradient of the tangent
E T Efiﬂl before vou can fIr_rld the gradient of the normal.
dx . You find the gradient of the tangent by
AtP. x=5 differentiating.

(dy ) 20 4

=

&), 5 5
For the gradient of the normal, using mm'=-1,

43 5
| == =-1= m==
L 5) 4

Using y—1; =m{x—2x ). the normal

5.
toHatPisy—4=>(x—-3) ) )
4 ’ You were asked to give vour answer in the

4['}-—4]:5['3:—5] form ax+&y+¢=0, where a. b and ¢ are
Ay=—16= 53:4:?.'5"/,,/ integers. The answer —5x+4y+9=0
5x—41-9=0 would also have been acceptable.

b Reamanging the answer to part (a)

41+9
=
5
Substitute this expression for x into xy= 20
(4+9) "
|~z JL == Expressions like 43" +9y—100 are not easv to
3

A4y+9)y =100 factorise but, as P lies on both / and H, vou know
I: Prs s that the y-coordinate of P, y =4 , must be one

4y +9y-100= 04:7- answer to the equation. So (¥ —4) has to be one
(y—4)(4y+25)=0

factor and the other can just be written down

e using x4y =4y’ and —4 %425 =—100.
ST 4
v =4 corresponds to the point P.
=
For Q, y=—6.25 = x(-6.25)=20 = xz_ﬁ*sq:_a_z

The coordinates of (@ are (3.2, —6.25)._

© Pearson Education Ltd 2C
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Exercise A, Question 54

Question:

The curveH with equatiork = 8t, y = % intersects the line with equatjm%x+4 t tha pointsA andB. The mid-point ofAB is
M. Find the coordinates M.

Solution:
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Substitute x =8¢, v =§ iW
r b
*8r+4

g 1
r 4
§=21.‘+4
t
Multiplving bv ¢ and rearranging
26 + 4 —8=0
(+2) £ +2%—4=(1+4)(t-2)=0
=2 -4

Ford say, =2 = x=8=8x2=16

Page2 of 2

- »

f 2
| 8¢ — |
\ Tt/
hvperbola. The points 4 and B must be of
this form and, if they also lie on the line

is a general point on the rectangular

; ; 1 :
with equation y = 5 x+4 . the points on the

parabola must also satisfv the equation of
the line.

The question does not tell vou which point is 4
and which point is B but, as the mid-point is not
affected by the choice, it does not matter which
is which and vou can malke vour own choice.

The x-coordinate of the mid-point of A58
is given by

632
=R

—8

Ly

The y-coordinate of the mid-point of A58
is given by
4-1

2

Yu =

=1

The coordinates of M are f—E 1].

© Pearson Education Ltd 2C
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The coordinates of the mid-point M of

A [xl= J.'l) and B(x;. }'J] are given by
o (HEx BEw)

(‘j'-;'ﬂ':vl'_‘d’\}_k 2 : P )-

e
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Exercise A, Question 55

Question:

The pointP(24t%, 48) lies on the parabola with equatidr= 96x . bt P also lies on the rectangular hyperbola with
equationxy = 144 .

a Find the value of and, hence, the coordinateshof

b Find an equation of the tangent to the parabdR giving your answer in the formn=nmx+c , whereandc are real
constants.

¢ Find an equation of the tangent to the rectanduylperbola aP, giving your answer in the forgpn=nx+c , wheareandc are
real constant

Solution:
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The point with coordinates [ at*, 2at)
Vi c always lies on the parabola with
equation v’ =4ax . in this case a=24.
so P is on the parabola for all +. There

| N will however only be one value of ¢ for
which P also lies on the rectangular

[. 245 48::} must satisfv the equation xy =144 hvperbola and vou find it by
245 % ARF — 144 substituting (24¢7, 48¢) intoxy =144 .
144 1 1
2448 8 2
7 )
ForP, x=24r =24x| —| =6
\2)
}'=4Sr=48x% =24
The coordinates of P are (6, 24). gﬁzlﬁxﬁz.il:l"xﬁ_
2 i 47 | Sov96=+(4'x6)=446
b ¥ =96x = y=(96)" xF =446x° '
L s (i
de 2 x?
F_' ]
Ava—g Fo 2005
x A6

Using y—y, =m [x—xlj . an equation of the tangent to the
parabola at P is

y—24= I[x— 6)=2x—12

y=2x+12
é }':E:l:&?g_’l
x
§=—144x-1=—ﬁ
dx x
Apwes, Dlultls y
dx 6

Using y—3, =m(x—2x ). an equation of the tangent
to the hvperbola at P is
y—24=-4{x—6)=—4x+24
¥=—4x+48

© Pearson Education Ltd 2C
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Question:

The pointsP(9, 8) andQ(6, 12) lie on the rectangular hyperbélavith equatiorxy = 72 .

a Show that an equation of the ch&@ of H is 4x + 3y = 60.
The pointR lies onH. The tangent tél atR is parallel to the chorBQ.

b Find the exact coordinates of the two possibletjprs ofR.

Solution:
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a i & :
| H The diagram shows that there are
| two positions of R, labelled R, and
S \ o / R, in the diagram, where the
N tangents to H are parallel to PQ.
= e
\N T
Using YN TR itk
Ye—¥ M=
P(x.y1)=(9.8) and O(x,. 3,) =(6.12).
an equation of the chord PQ is
y—8 x-9
12-8 6-9
y—8 o 9 When vou are asked to show that an
4 =¥ equation is true, vou must use algebra to
—3[:}' —8] =4[x—9] transform wvour equation to the equation
e SPRTNC . ey [ exactly as it is printed in the gquestion.
4x43y =060, as required.
b Rearranging the answer to part (a)

3y=—4x+60 = y= —%x+ 20

; . .4
The gradient of the chord is —— .
3 The lines v=mx+¢ and yv=mx+c'

Ifthe tangents are parallel to 4B, the gradients : :
are parallel if m=m'_ For AE,

4
of the tangents must also be —— .

4 ; ;
m =——_For a tangent, m =& The
dx

- dy L
}'=?2x1 = ——=—12% = _F key step is. therefore, solving
dx
72 4 dr_ 4
e & 3
x 3
- - 73
et =5 ] j3=54
x=1454=2346
5 5
At Rl= I=3{6:}== ?h :I_X6=4-\L‘6
346 346
i | ¥
At R, x=+6y=— 2 =—1"X6=_41-5
i 346 3V H

The coordinates of the two possible positions of
Rare (3v6,446) and (346, —46).

© Pearson Education Ltd 2C
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Exercise A, Question 57

Question:

A rectangular hyperbold has cartesian equatien=9 . The p<(tBtt %) is a geneiat pnH.
a Show that an equation of the tangerit-ltat(3t, TS) iSx +1% = 6t .

The tangent td at(3t, TS) cuts the-axis atA and they-axis atB. The pointO is the origin of the coordinate system.

b Show that, at varies, the area of the trian(OAB is constan

Solution:
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. : d RN -1
- E: 05! Using E[I ] =ux .
x
E:—Qx': :_> i’gx'lt] =—1x9x ! = 0x7? =—i:.
i x:'- dx" b
1IiIi'-it"']:LE‘I]_ _T=3I=E L " g 3 =—i:
dx (3¢) t
. i . % 'r' 3&" A ‘."-' 3““! =
Using y—y, =m{x—x ) with (x, » ]:i 3z, _j ; You can use (x, » le 3z, 4 in
= g

the tangent to /7 the formula y—y, =m(x—x) in

1-_3 =——(x-3r) * exactly the same way as vou use

t t coordinates with numerical values
(x) y—3t=—x+3t like, say, (6. 4).
x+1'y =6¢, as required.
b For A, substitute, y =0 into x+# v =6¢.

x=6f = 04=06¢

For B. substitute, x=0 into x+r:}' =61f.
Fy=6f = ,1:=E — op=5
L L
1 1 6 This result means that no matter

Area AOUAB = a 04 = 0B = il 61 % 5 =18 which point vou take on this

This area, 18, is a constant independent of . — relcta.uguiar hyl'perbnla the area of the
triangle (4 F is always the same, 18.

© Pearson Education Ltd 2C
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Exercise A, Question 58

Question:

The pointP(ct, %) lies on the hyperbola with equatigr 2 \wlheEsa positive constant.

a Show that an equation of the normal to the hyperbt® is
tx-ty-c(t*-1)=0.

The normal to the hyperbolaRimeets the ling=x &b. Given that # +1 ,
b show thaPG? = 02[t2+ ij .

2

Solution:
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a i
y
G
JP
=
V= i eix
x
e The normal to A at Pis perpendicular to
—=—Ccx =——5 the tangent at P To work out
dx 2 perpendicular gradients vou will need
At P, x=ct the formula mm'=—1_ So vou have to
dp e 1 4 find the gradient of the tangent before
& B 7 vou can find the gradient of the normal.
You find the gradient of the tangent
For the gradient of the normal, using mm'=-1, e

|"J 1 A i
|l ——=|m'=-1 = m=¢r
W
. . Ir C‘\l‘l
Using y—3; =m(x—x) with (., }-1]:; cf. _j .
L
an equation of the normal to the hvperbola at P is

y——=¢ (x—et)

y——= Fx—ct

L s T I 1

When vou are asked to show that an

(xt) yt—c=Fx—ct’
equation is true, vou must use algebra to

Px—ty—ect'+e=0

rx— z}=—c[jr4 —1}=0. as required

file://C:\Users\Buba\kaz\ouba\fpl revl a 58.

transform vour equation to the equation
exactly as it is printed in the question.
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b For 7, substitute y = x into the result in part (a)
Fx— D{—E.‘I:IJ' —-1]=0

(£ —£)x=c(e*-1)

r c“‘.
The coordinates of & are 1lm.‘+— ci+—

t)

Page3 of 3

You could not “cancel” the [:r1 —1:}

terms if £ ==1, as then [~r1—1§] would be

(. but these cases are explicitly ruled out
in the question.

PG]=['_x1—x:;I:+|:}-1—J:::I *

i F "': i C
=lcf+——c¢t| +| et +———

L g ¥

C: 2.3 1:.'; bl 1-\_
S te el E -|'—.,Jr

. as required.
3 L. B

© Pearson Education Ltd 2C
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Usingd:=[:x—x:]1+['_}'1 1.:L.;|j
r e
with(x. 1 ) =] cr+— e+ |
\ ()
s e
(e 32)=[ )
k. 4 3
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Exercise A, Question 59

Question:

a Show that an equation of the tangent to the regctan hyperbola with equatioty = 2 atthe pnﬁcﬁ %) t4s+ x = 2ct

Tangents are drawn from the poin8(3 ) to the remdar hyperbola with equatioty =16 .

b Find the coordinates of the points of contacheke tangents with the hyperb

Solution:
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L4

c oo
a Yy=—=cx

x
dy 1 -2 c”
=y ==
dx x
At x=¢t

’
dy & 1
dx 't £

i
Using y— =m|':x—x1:I with (x, -}'1]:1' ct, 2
: ’ \ t

-
1
1
J

an equation of the tangent to the hvperbola is

c 1
}'——=——1I:x—cr}

r i

£ b A
Yo =mape

I £ I

x e
¥lg=—

r r

Page2 of 3

The diagram shows that, in part
(b), the tangents have two points
of contact with the hyvperbola.
One is in the first quadrant and
the other in the third.

Part (a) is a general question. Part
(k) is about the specific rectangular
hyperbola with ¢* =16 _ The first
step in part (b) is to adapt the answer

o r+x:/‘/j,i7

in (a) to (b) by substituting ¢ =4 .

b When ¢ =4, the equation of the tangent is

v+ x=8¢

—3= 3} satisfies the equation
I: J q
331 3—8: /

(—3.3) must lie on both tangents and

wvou use this to obtain a quadraticin .
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3 & —3=(3¢+1)(r-3) =0

po-ta
3
; (4
The points on the hvperbola are ] 4z, —j

k. r

F *-\.l:‘
4 4| (4 b
When r=—1=thepni.mis — =l —=.-12]
3 37_ 1) k3t )

;'H 3_’..

g 43

When #=3, the point is 1| 12 3 [
L

The points of contact of the tangents with the hvperbola

p 5 F
are —i=—12 | and I lli'

T

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 60

Question:
The pointP(atz, 2at) , where> 0 , lies on the parabola with e(qlnati2 = 4ax.
The tangent and normal Rtcut thex-axis at the point¥ andN respectively. Prove th%t:l— =t

Solution:
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The # >0 in the question implies that vou
onlv need to consider the part of the
parabola where ¥ =0, that is the part

above the x-axis.

To find an equation of the tangent PT

y=dax = }':la{'xi (¥>0)

T Ly, ) gt o
y=2ax dx* dxV /2 =
3

dy 1 Lo b o
—=—xlaxi=—
de 2 X3
At I=ar1= 2 =a't
dy a 1
dx aér i

USiIlg l}l—}.ll :m".x—x].:] ‘l,'l.ﬁ_th {xl= }_.1.'] ={'a'j':= ‘_{Jrjl 3

an equation of the tangent to the parabola at P is

1 .
}'—Im‘:—[x—az‘]
T

tv—2at=x—at The tangent crosses the x-axis

w=x+at® . __ 0 where y=10._

To find the x-coordinate of T, substitute ¥ =0 mto @

O=x+ar’ = x=—ar
Using dlzl:xl—xz}lﬂz}fl—}':_]z with
{_xlr}'I}:(arzzlﬂr} and [:xr}'z}:li—ar::{]:l

PT? =(at* —(~ar* )| +(2at—0)’

—(2a?)’ +4a*F = 4" + 4a*F

=dar(£+1) .. . e The normal is perpendicular to
the tangent. From working
To find an equation of the normal PNV . earlier in the question, you
Using mm'=—1_ « know that the gradient of the
Exm':—l = m = tangent is —.
t 3

Using y—w =m'(x—x ) with (x.3,) ={;a£:= Ear:]=

an equation of the normal to the parabola at Pis

file://C:\Users\Buba\kaz\ouba\fpl revl a 60.
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v—2at=—t{x—at®)

5 The normal crosses the x-axis
=—tx+ arq where y=0.
y+ix=2at+ar _._ .. 3]
To find the xcoordinate of NV, substitute v =0 into ©

tx=2at+af = x=2a+at’
Using d1=['xl—_1:::l1+[j}'1—}':‘_ll with
(%-3)= ['af: 2at| and [x:=}'::i = (2a+m‘:= ﬂ'}

PN =(af' —(2a+af )| +(2at-0)

=(2a) +(2at)’ =4d* +4a’#

=4a (1+7)
From @ and ©

PT? 4a:rltr1+l:] 3

PN (A

Hence

=t as required.
PN o

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 61

Question:

The pointP lies on the parabola with equati9%=4ax , Whatie a positive constant.

a Show that an equation of the tangent to the péaatiap?, 2ap), p> 0, ispy = x +ap2.

The tangents at the poirkgap?, 2ap)  aD@g2 2ag)(p#gq, p>0, q>0)  meet at the pbint
b Find the coordinates o¥.

Given further thaN lies on the line with equation=4a

c find p in terms oig.

Solution:
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Page2 of 2

q @
Using — | x" | =mx™
g dx[\ )

1

[x’:’]z%xé_lz%x_l*-

The equation of the tangent at @ is the
same as the equation of the tangent at
P with the ps replaced bv gs. You do
not have to work out the equation
again.

To find x and y_ in terms of p and g,
vou solve equations @ and ® as a
pair of simultaneous linear
equations.

If W lies on the line with equation
v = 4a  then the y-coordinate of V,

which is a[:p—i-q] . must be 4a.

a Vv =4ax = }'=2afx" [3;::- 0)
y= 2aixt E
dizlxla’:'xqéz 1 i
de 2 ¥
At r:ap:= E i :aip
dy a’ 1
& dp p
Using y—1 =m(x—2x) with (x.3) =[;ap:= 2ap}]=
an equation of the tangent to the parabola at Pis
y—2ap = (x-ap’ )
. 7 4
v —2ap =x—ap”
py=x+ap”. as required.
b An equation of the tangent to the parabola at Q is
= q}-ix+aq] pﬂ — |
py=x+ap’ .. a
0-0 py-qy=ap —aq"
(p—q)y=a(p’-¢)
_a(#i-dY) a(p~4) (p+a) g
’ r—q =g
Substitute into @
qcx[:p+g_] =x+ag"
x=ga(p+q)-aq’ =apg+agq’ —ag’ =apg
The coordinates of NV are (apg. alp+g ]] .
¢ IfNlieson y=4a. /
d(p+q)=44
p=4-g

© Pearson Education Ltd 2C
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Review Exercise
Exercise A, Question 62

Question:

The pointP(at?, 2at), t# 0 lies on the parabola with equatjdr= 4ax  , wlageea positive constant.
a Show that an equation of the normal to the parahtias

y+xt = 2at +at>,

The normal to the parabolaRimeets the parabola againat

b Find, in terms ot, the coordinates Q.

Solution:

file://C:\Users\Buba\kaz\ouba\fpl revl a 62.| 3/18/201.



Heinemann Solutionbank: Further Pure

e

%]

v =dar = y=2a'x"

Page2 of 3

The normal is perpendicular to the
tangent, so vou must first find the
gradient of the tangent. Then vou use

mm' =—1 to find the gradient of the

normal.

When yvou are asked to show that an
equation is true, vou must use algebra to
transform vour equation to the equation
exactly as it is printed in the question.

a
y=2ax
dy 1 L E
X Cxaatt =L
de 2 X2
At x=ar’, = gir
dy at 3
dx II%I %
Using mm'=—1,
Lo
-Xxm'=-1 = m'=—
z
Using y—y, =m(x—x ) with (x.3)= [af}: 2at),
an equation of the normal to the parabola at Pis
v—2at=—t(x—at*)
=—R+{II3 /
v+ox=2at+ar . as required.
b

Let the coordinates of 0 be [:ag: 2ag ]

The point O lies on the normal at P, so
2ag+iag’ =2at+at’ <

" 3 .
You substitute x=ag” and v = 2ag into the

answer to part (a).

2ag—2at+atg’ —at =0
2a(g—t)+at(g’ —£)=0
2a(g—t)+at(g—t)(g+t)=0
a[q—r]['2+rlzg+r]jl =0

24+tg+17=0
g=-
: [ (#+2Y
The coordinates of O are | a| =
L
e & /

© Pearson Education Ltd 2C
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There are two possibilities here: g—¢=10 and
2+2(g+t)=0. As P and Q are different points,
¢ =1, s0 vou need only consider the second
possibilitv. You use this to find g in terms of ¢,

Replacethe g in [ ag’, 2ag':|

243

I

by — - Youneed not

t
attempt to simpli fy this
further.

3/18/201:



Heinemann Solutionbank: Further Pure Page3 of 3

file://C:\Users\Buba\kaz\ouba\fpl revl a 62.| 3/18/201.



Heinemann Solutionbank: Further Pure Pagel of 3

Solutionbank FP1

Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 63

Question:
a Show that the normal to the rectangular hyperlzrjol:;lc2 at the poinP(ct, %) t#0, has equati(yn:tzx+%—ct3
The normal to the hyperbolaRtmeets the hyperbola again at the pQint

b Find, in terms of, the coordinates of the poi@

Given that the mid-point d®Q is (X, Y) and that # +1 ,
¢ show thatt = -2 .
Y 2

t

Solution:
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z
]
e
L J

Page2 of 3

The normal to H at P is perpendicular to
the tangent at P. To work out
perpendicular gradients vou will need
the formula mm' =—1_ So vou have to
find the gradient of the tangent before

I:: e S |
a Y=—=gx
x
dy 1_-3 ¢’
=X =——
dx X
At P x=ct
dy e .
dx c't £
For the gradient of the normal, using mm'=—1,
j"" 1 H'Ip r ' 2
——im=—1= m=t
Lt
’ . i C_‘\I
Using y—y =m(x—x ) with(x, y1]=; ct, _,Il'
t

an equation of the normal to the hvperbola at Pis

g

}'—E =¢ (x—ct)
; 3

=r:x—cr‘:

2 [ 3 .
Vv=t"x+——ct _ asrequired. ..

vou can find the gradient of the normal.
You find the gradient of the tangent by
differentiating.

When vou are asked to show that an
equation is true, vou must use algebra to
transform vour equation to the equation
exactly as it is printed in the question.
In this case, the form of the printed
equation suggests a method for the next
part of the question.

x

For O, from @ and o

Writing the equation of the rectangular hvperbola,
in the form y= ..., enables vou to eliminate

quickly between @ and @

= i 3 c
Fx+——ect =—
f x

=t and collect terms as a quadratic in x
rx +(e—ett )x—ct=0

(x—ct) [_r‘:x+f:'] = *

x=ct comresponds to P

file://C:\Users\Buba\kaz\ouba\fpl revl a 63.1

The x-coordinate of P, ¢ . must be a solution of
the equation. So [x— cr_] must be a factor of the
quadratic and, so, vou can write down the
second factor using xxfx =1 and
—ctxc=—ct.
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c

A
Substitute the v-coordinate into @

For Q. x=—

y=—=——=—
x C
2
. | :h\'
The coordinates of J are | ——  —er” J'
2

Page3 of 3

The coordinates of the mid-point of
A(x.3) and B(x,, y,)are given
_(xmtn mtm)

\ 2 2 )

by (X.T)

Multiplving all terms on the top and
bottom of the fraction by #°.

Multiplving all terms on the top and
bottom of the fraction by ¢.

()
ct+| —= 4
E . #.3
. x £l e :C=C[~ )
2 3
[ / 3% 3 .
v ;ﬂ‘“ ) _ct—ctt_c[l-1)
T2 e ow M
c[':4—1'}‘\_\
¥ e el %
e e 3
Y e(l-#) 2 " (1-F)
2

—— . as required.
2

© Pearson Education Ltd 2C
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 64

Question:

The rectangular hyperbo@has equatiory = ¢ , whersis a positive constant.

a Show that the tangent @at the poinP[cp, %j has equatiqﬁy =-X+2cp

The pointQ has coordinatas[cq, %] q#p
The tangents t€ atP andQ meet aN. Given thatp+q#0 ,

b show that the-coordinate oN is 2+Cq.

The line joiningN to the originO is perpendicular to the choRD.

¢ Find the numerical value @fq?

Solution:
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Ll
" }kn
Ll
\\\ !
.\
-] f /
-""‘--.._\_‘_‘_H_\_ \ o
0
e \ s
) N
1
1
|
|
e T lF
a Y= =
x
dy 3 i 5
= =—"x —aa
dx x
At x=cp
dy £ 1

|'# 3
Using y—y, =m(x—2x) with(x, ») =i ep, ‘]
b
an equation of the tangent to the hvperbola is

1
}'—£=——1[x— cp)
b P
c X e
yo——=——t—
e np
A
e e x i
E - The equation of the tangent at O is the

same as the equation of the tangent at P
with the ps replaced by gs. You do not
have to work out the equation twice.

(xp*) ply=—x+2cp. asrequired .. ©

b The tangent at O is

g v=—x+2cq
To find the y-coordinate of N subtract @ from @
|7 ~q’)y=2¢c(p—q)

To find v, vou eliminate x from
equations @ and @ These equations

s B e 2 are a pair of simultaneous linear
% f;p ?] = M 2 B . as required. equations and the method of solving
p g W[p+q] p+g them is essentially the same as vou

leamt for GCSE.
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¢ To find the x-coordinate of & substitute the result
of part (b) into @

2
2ep”

ptq

=—x+2cp

Icp] _ Ir:p[p +g'j|—2q::r2 o Z2epg

rtgq Ptq ptq
The gradient of PO, m say, is given by

c: ¢ !f\(fj'\\{.]'l

x=2cp—

Page3 of 3

Vi — ¥
m==2 <1

X —X

P a_  pg 1/ [ )
mo P ¢ _ pg 1 -

co—cq dw Pg

The gradient of ON, m' sav. is given by
2e
o BF 1
=C0g pg
ptyq
Given that OV is perpendicular to PQ
mm' =—1

1 1 1 3
——x—==1= pg =1
g pPg

© Pearson Education Ltd 2C
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The gradient m is found using

-

with [:x1= W) =| ep. 21

3

r)

#
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 65

Question:

The pointP lies on the rectangular hyperbaia=c®> , wheis a positive constant.

a Show that an equation of the tangent to the hypemitahe poinP(cp, Spj p>0 ,igp2+x=20p .
This tangent &P cuts thex-axis at the poin&.

b Write down the coordinates 6f

¢ Find an expression, in termsmffor the length oPS.

The normal aP cuts thex-axis at the poinR. Given that the area afRPS ~ 4dc® |

d find, in terms ofc, the coordinates of the poiP.

Solution:
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¢ o
q Jy=—=¢x
x
dy 3 ’
— =X =
dx X
At x=cp
dy e’ e
% 2
[ e
Using y—y; =m(x—x) with(x, 3 = . —|.
L z.

an equation of the tangent to the hvperbola is

; 1
y-L=——(x—cp)
e P
c % E
R e e
o ¥ P
x 2
.:L'I+ e R
r p

(xp*) p*y+x=2cp, asrequired. ... ‘“\

Page2 of 3

The tangent crosses the x-axis at v=0.
You can put v=0 into @ in vour head

i
g

b (2¢p.0)

¢ Using ;:zr::[J:I—J@J:+Ii3;1—;:,':}1 with

f b
(%5.31)=| .= | and (x. ;) =(2ep.0)
(5

and just write down the coordinates of

S5 . No working is needed.

There are many possible forms for this
answer. Any equivalent form would
gain full marks.
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d To find the equation of the normal at P.
The working in part (a) shows the gradient of the

tangent is —— .
I
Let the gradient of the normal be m'.
Using mm'=—1,
1 r t 2
——xm==1l=m=p
I
()
Using y—, =m' (x—x ) with(x. ») :1' p.— | .
\ 2/
an equation of the normal to the hvperbola at P is

[ q
y——=p*(x—cp
©p(xap
=p:x—cp3

5 c 3
px=y-—+ep

r
To find the x-coordinate of R, substitute v=10

. c 3 c
PX=——+cp = x=gp——
B

Page3 of 3

To find an expression for the
area of the triangle vou can
obtain the length of the side RS
and use that as the base of the
triangle in the formula for the
area of the triangle. First you
need to obtain an equation of the
normal and use it to find the
coordinates of K.

If RS is taken as the base of the triangle, the
height of the triangle is the y-coordinate of P.

r
.’* g ¥y
. c | £ [ 27 +1]
RS =2cp— £p——=;=cp+—==clp — |
\ i, A Y
1 ;
Area ﬂ.RPS=;RS>< height
. 1 (p*+1) 7
4le” =— xc| L -.xi
2 \p )P
I
=§Lﬁ’ +1

2p'=p*+l = ;'.r4=l =3 p=l
8 3

|"-' L-:H'I :"-'C ™

The coordinates of P are | cp, — :=' —. 3¢ |

I__‘_ p -)_I t‘_ 3 J

© Pearson Education Ltd 2C
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=

As p =0 is given in the question, vou

need not consider the altemative
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 66

Question:

The curveC has equatioy? = 4ax , whegeis a positive constant.

a Show that an equation of the normattat the poinP(ap?, 2ap), (p #0) i+ px = 2ap+ap° .
The normal aP meetsC again at the poir@(aqz, 2aq) .

b Findqin terms ofp.

5

Given that the mid-point d?Q has coordinat 1128 a, —3a) ,

c use your answer 1b, or otherwise, to find the value p.

Solution:
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4
v
P
O X
a v o=dax = y=2a'x*
y=2a'x
5 p 3
B Ll
dx 2 xﬁ
At x=ar, x*=da'p
dv a* 1

dr gf P
Using mm' :—1/

—xm=—1 = m'=—p

The normal is perpendicular to the
tangent, so vou must first find the
gradient of the tangent. Then vou use
mm' =—1 to find the gradient of the

normal.

£

Using y—, =m'(x—x) with (x.3)= (ap®. 2ap ).

an equation of the normal to the parabola at P is

y—2ap=—p(x—ap’)
=—px+ap3

7|

yv+xp=2ap+ap’ . as required.

When vou are asked to show that an
equation is true, vou must use algebra to
transform vour equation to the equation
exactly as it is printed in the question.

b Let the coordinates of O be [.aq] .2aq
The point ( lies on the normal at P, so

lag+ pag® =2ap +ap’
2ag—2ap+apg” —ap’ =0
2a(g-p)+tap(g’—p')=0
2a(g~F] +ap(g-F) (g+p)=0
2+plg+p)=0
24 pg+pi=0

pg=—p -2 = g=—p—

| e

|

As P and O are different points,

p =g and it follows that g— p=0.
Y ou can, therefore, divide
throughout this line by [:q —p] .

Anv equivalent of this expressionis
p+2

/
acceptable, eg. g=—
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¢ The y-coordinate of the mid-point of PO is

given by
}'p+}'g_2ap+2aq_fd[p+q}_ :
T =a(p+g)e—

The answer to part (b) is

g=—pr-

h.il-,alh_j

Therefore p+g=-—

i~

The y-coordinate of the mid-point is

3
a(p+g)=ax——=-3a, given
e

| e

2a
—i_—==3a =¥ p=
L

© Pearson Education Ltd 2C
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You only need one equation to
find p and so vou do not need to
consider both coordinates of the
mid-point. Either would do, but
it 15 sensible to choose the
coordinate with the easier
numbers. In this case, that is the
y-coordinate.
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Edexcel AS and A Level Modular Mathematics

Review Exercise
Exercise A, Question 67

Question:

The parabol& has equationy2 =3% .

a Write down the coordinates of the focsief C.
b Write down the equation of the directrix ©f
The pointsP (2, 8) andQ (32,-32 ) lie onC.

¢ Show that the line joininB andQ goes througls.

The tangent t& atP and the tangent 10 atQ intersect at the poirid.

d Show thaD lies on the directrix oC.

Solution:

x=-8

)

If ¥* =4ax . the focus has coordinates
(@.0) and the directrix has equation

x=—a. Comparison of 1% =4ax with

a (8.0)

[ Using ﬂ:ﬁ
Fo.
(%-21)=(2.8) and (x,. y,) =(32.-32)
an equation of PO is
x—2

with
H—x

3y—24=—4x+8
3y+4x=32

Substitute y=0
O0+4x=32 = x=§
The coordinates of § (8, 0) satisfy the

equation of PQ.
Hence 5 lies on the line joining P and .

file://C:\Users\Buba\kaz\ouba\fpl revl a 67.l

&)

3 . '
¥° =312x, shows that, in this case,
a==8.

Methods for finding the equation of a straight
line are given in Chapter > of Edexcel AS and
A -Tevel Modular Mathematics, Core
Mathematics 1. You can use anv correct
method for finding the line.
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=32y = L'=+4*J2'cf"‘_'_'_'___—_._._._ V32=4(16x2)=416x42=442

d
P is on the upper half of the parabola where y=+4 2y
dy 1, . 4 242 4
E:;'h"x =3 On the upper half of the
- - % parabola, in the first quadrant,
At x=2_ d_} A _ 5 the y-coordinates of P are
dr ~2 positive.
Using y—y =m(x—x ). the tangent
toCatPis
y—8=2(x-2)=2x—4
y=Ix+d . o On the lower half of the

: parabola, in the fourth
O is on the lower half of the parabola where y=—4+2x" quadrant. the y-coordinates
o 1 A 3.7 of P are negative.
= A 2x P =
dx 2 X
! 2 3 % 2
Apisy SRS ARE
dx V32 442 2

Using y— 3 =m [:x—xlj . the tangent

toCatQis
y+32 =——I:x—32]=—lx+16
2 2
1
y=——x—16 ... ... a

To find the x-coordinate of the intersection of
the tangents. from @ and &

1x+4 =—%x—16
k 2
x=—-20 = x:—lﬂxzz—g

(R

The equation of the directrix is x=—8 and. hence,
the intersection of the tangents lies on the directrix.
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